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ﬁ Easter Addition or Subtraction =

Solve the following word problems. \ 4

Peter has 45 Easter eggs. He eats 20 of them. How
many Easter eggs does he have left?

Sarah found 30 Easter eggs during the egg hunt.
She found 15 more later. How many Easter eggs
did Sarah find in total?

John has 60 Easter candies. He gives 32 to his
friend. How many candies does John have now?

Emily has 25 Easter stickers. She buys another 50
stickers. How many Easter stickers does Emily
have now?

David has 80 Easter bunnies. He sells 15 of them.
How many Easter bunnies does David have left?

There are 70 Easter eggs in a basket. 20 of them
are blue. How many of them are not blue?

A shop sells 78 Easter chocolates. They sell another
16. How many Easter chocolates does the shop sell
in total?

Anna made 50 Easter cookies. She ate 15. How
many cookies does she have left?

There are 90 Easter cards in a box. 29 of them are
used. How many Easter cards are left in the box?

10 A store has 65 Easter baskets. They sell 27. How
» many Easter baskets does the store have now?
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